
 

4/20/2023 www.lankota.com   |   Lankota Inc. Page | 1 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

LANMF24542 

Installation Instructions 
Fender Lift Kit for 6xxR & 4xxR Series John Deere Sprayers with Narrow Fenders 

(Set of 4) 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

4/20/2023 www.lankota.com   |   Lankota Inc. Page | 2 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Numerical Parts List 

Part Numbers Description Qty 
LANMF31 Fender Mount 8 
LANF06FP 3/8” x 1.25” SS Hex bolt 16 
LANF091A 3/8” SS Hex Nut 16 
LANF05XZ 3/8” SS Lock Washer 16 
LANF05SQ 3/8” SS Flat Washer 32 
LAN19M7785 M10 x 25mm Flanged Hex Bolt 8 

Pictorial Parts List 

LANMF31 (8) LANF06FP (16) LANF091A (16) 

LANF05XZ (16) LANF05SQ (32) LAN19M7785 (8) 



 

4/20/2023 www.lankota.com   |   Lankota Inc. Page | 3 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

1. Remove the hardware from a fender and its lower mount.  

2. Install a bracket on the mount with the removed hardware. The bracket should point UP and BACK as shown. 

3. Attach the fender to the bracket with the provided stainless hardware. 

4. On the upper mounting arm, remove the mounting hardware and lift the fender. 

5. Install a bracket with the M10 x 25mm bolts (LAN19M7785) provided. The bracket should also point UP and BACK. 

6. Attach the fender to the bracket with the provided stainless hardware. 

7. Repeat these steps on the other fenders. 

 
Note: Lankota recommends using thread locking compound to prevent hardware from coming loose. 



 

4/20/2023 www.lankota.com   |   Lankota Inc. Page | 4 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

During severe suspension compression 
events, it is possible for the rear fenders 

to contact the taillights. To make this 
impossible, switch the taillight arms, from 

side-to-side, so they are higher and 
unable to contact the fenders. 


